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FHATITE TG JIAHGHIN, GEha-d TGN |
55T G 7 &, q& T ol F IR qeha 4 & o |

Answer all questions in Sanskrit, unless instructions are given

otherwise.

ST Jo797 WAedN: GUST: Gl |

39 J97-97 § AR @S 3 |

There are four sections in this question paper.

Gue: % Tafedre — SFaEgy (JTafedre — faaie)

SECTION A (Unseen Reading Comprehension)

gue: @ GEh THTCHRTEH (F5hd H &I <ie)

SECTION B (Writing Skills in Sanskrit)

gug: T ISAR — AT, HEhAHT G qied: =
(afSamer — ST U@ HEhd Hifecd TR=)

SECTION C (Reading Comprehension and Introduction

to History of Sanskrit Literature)

qUE: g FEISASA: (V¢ T FAASR)

SECTION D (Metres and Figures of Speech)

40+10=50 3AEm:
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Qus: < (SECTION A)
ATFSATI — ST
HAUTSATI — FTI A
Unseen Reading Comprehension 15 3gT:

AYARGTH, FTeoegd TiScal TG T HEhdd A

frfefaa ST sg=adl I Tgat U U yeAi o 3T §&hd § 4T

Read the following two passages and answer the given questions in
Sanskrit :

(%) TuH: FEBe:
TS IEATICHBICATR g A, Afed | AeH:  STgE-EHA
AR TYTfehe HTaTehR Ua sar: feufa: sead | td 9 =afw:
vafa afequrt | o Ierear feufa: quuafe: e |
AT

(31) UHYEH I |
T e | I AT |
Answer in one word. ~x2=1
(i) aftw: Hreeht waf 2 ?

(i) ‘eIfeq’ st foramam: wqug fom 2

(9) qofaTeRA IR |

9ol Fe § IR T |

Answer in a complete sentence. 2

qUHfeh: AT HSAd ?

(|) Ml I |
JYTHEY I T |

Answer as directed. L a=2
(i) ‘Frfyey o7 &: 99 3 UIE: ?
(i) ‘w1 faeug fohy ?

(i) ‘“HaTy oTe faemyer ey 9

(iv) ‘Safeh:’ 3T Thd 1 TR 3T T ?

3 P.T.O.
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(@) foda: srgese:
TR AT, — “HIH G ITes i, W §og: Hatd
Y Td 9 QNI 3cued | WeRlRd 9ia g fauet a1 AnieRE st |
Yo 3Tfed Tt | Je g Tae: vfag feed ade wemed: woft
T =afYd: wafd | W Siifad: ST Tehlfehl STTcAT A& i,
WA AEIhAT WAfd ATEUUCIed dql gakad: Uwdfed, MWL &
vaf=d | oW 79fE 9:gRA SR fafaen: g | @ e e | e
9 foofiw: qar gl ofgwE $H:, IG 9 UEd I FAE q¢l A had
T AT Yam: W oEEn: Ut oey guTHg | a9 Hfasg
iar: dreg oA e $H: | ord: WISl I wHen d W HHw
eI |7

AT

(3)

THYGH I |

Teh W18 3T T |

Answer in one word.

(i) <h ATCAH ATaRIh Hefd ?
(i) o9 T Y HHR ?
UigTERH 3T |

qof areRr ® IR T |

Answer in a complete sentence.
o Tk foh STrdl 2

ey I |

AT I T |

Answer as directed.

(i) SR 3T % T 3 T 2

(i) ‘Tef=’ 7= Hqug e 2

(i) ST 3T Hd I ToRAT 37 THI ?

(iv) =iy o foemer oy ?

3T =05 Hd UG MYk TR 7@ |
T TG b o I ¥iep wepa H ot |

Write a suitable title for this passage in Sanskrit.

1 ><2=2

2x1=2

Ix4=4
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Wus: @ (SECTION B)
TEFHA WATCHRAETH
HEHA T TATHS @
Writing Skills in Sanskrit 15 37I:
HoSuTd: Sfaqegan el gifeiiadr s Riiar 34: fowd :
oo | 3fua Fga ot FEfaIRad e i U R fafau
Complete and rewrite the following story, with the help of the words

given in the box below : 1x10=10
HAT

AT TSI (i) T AN d T $eATg: IIWad, |
UGl ¥ TIHAH A9: gy dcdRa Teal (i) frafea wisy
TAHR TP ?  THHWNSAE], — “3T8 g (iid) goft | et
HIYAA — “9aT TAIN (iv) Sreifd fopg 2 Sretsger ATl
3 (v) IAFAQ_ | A WAH (vi) A = |17
THEW: Jaed — “T8 Udd. g &H: | WHYSX UAg AMCuid  deehd
(vii) 30 o9 HREAW |7 ATt IR0 TeTsialq — “STSTETayior
TqU: Tocal THhRIHH Togd 3Tgq |7 AFME: (viii) ST Tt
TG, “9aH  STRIGRENI  Sfed  gul  FRUd, M@ g Aleehd
(ix) TR IR sl | foh wad: STeereuasiony Ui AT
TUIGATG AT e 27 T F=ity geat It (x) goama: |

HesH

afeiqy, 99gH, o, Uuigad, Tecat:, diaEfagq, Taited, TEH:,

qH:, ©I1T |

Hoo[uTa: gei e ‘Fratew sfa foawy sifushcy usar ety w&had forea |
oW & U8 TR I 39 v W TEha § 9 I fafau |

Write five sentences in Sanskrit describing ‘Election’ with the help of

the words given in the box below. 1x5=5
HoSTHT
IR, T, TSHiagorert, faffaa:, wafa, g, aemd, gaEE-=,
ARAET:, TSIGHRT:, TAMK:, Talfgshde ™, $Hdfd, T,
HATIIhRE, AGHEITq:, ATy |

5 P.T.O.
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@vus: T (SECTION C)
TSATIT — AT AERAAT eI U=d: =
TISATIT — STTATYA TS TEhd ATged Tad
Reading Comprehension and Introduction
to History of Sanskrit Literature 40+10=50 37gT:

FYIfaIRad Ter, TeTe, e ¥ JiScd YEaueH HEhd- 3aLd ¢
frferfiaa e, TemTe Td ATeaTS i Ugeh fEU T Sl o I HEhd H S
Read the following poetry, prose and drama passages and answer the
given questions in Sanskrit :
(%) =y

“ararferamata TR fEam

el forgfa 7o SRRl |

I I T SR EaId et

afFEaeuiig yagf~ a=a: 11”7

T4t

(37) TeHHCH 3T |
T 16q H I AT |
Answer in one word. —x2=1
() T feam I 2 2
(i) T S ThelhUld ?

(9) qofaTeRA IR |
ot e | I G |

Answer in a complete sentence. 2

gd: Gf-iaeeror foh gagf= ?

(|) FurieI™ ITa |
Feface I i |

Answer as directed. 1x2=2
(i) “TEReIRUITd T hae T, ?
(i) ‘quarq e foetmug fobg 2

6
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(@) T

“OEisTe:, oIl W W wHE:, ofd MY wwe et

IUETNETEHN =~ AR Wfase: | HhAdgRaeHhEd: IHguy ey

gfcfacd=d | FAT TfqeomieehTieenl Tl hadi | 3TF TheAT Tial
vdaguiid Wigqd | AU HEHRI  (UR:) wHE  WEAd

Answer in one word.
(i) e o afgur: e ?

(i) I TATHAAT ki ?

qUiETERH 3T |
9ot T # 3 AT |

Answer in a complete sentence.

SThTATA <hT TG ?

(®) g™ 3 |

<

FATHGY I GIT |

Answer as directed.
i) S’ o= foetvag fohm 2
(ii) ‘wfese:’ 319 Squg Ty 2

(13
Ch

—  (O%gEHTHaH)  ‘TeemY

—x2=1

Ix2=2

E{UE 1 R CACIE DRI

FATOSEaA: FaeATNATe ! HaM, Sehuey: | (J9e)

JISTATE: TAThRIHAT ST |

eCohohd [T CIEhUSHATGE: ||
(TTE) STE FCT=IT |
—  Togead ? IS T AR |

Tqq: — wi: Wl | dfcewabrm g 2
(A=) T T HEWS Ut & &6 2

7

TJeaggEId 2

P.T.O.



49

T
(3)

TehUe I |

Th ¥eg H T T |
Answer in one word.

(i) T SchufIhy: &: ?
(i) HHR: shigw: ?

(9) qofaTeRA IR |

oot g # I i |

Answer in a complete sentence.

Heyon w5 sfed 2

(|) I ITa |
Jeqfaew I AU |

Answer as directed.

(G) ST T 2
(i) T 3 % GAE: ?

NEARIE R RIRIC IR e

yregt 1 1t & e hifve wa fafem |
Match the words with their meanings and rewrite the same.
ITeaT: A

(1) tfa () v
(&) forere (i) 3T
(|) igHy (i) oo
() aifva: | (iv) Tv=Ry |

TETfgaueri Sy Fefmi $ed |

@Ifgd 961 o STMER R Je-Faio Hiw |

Frame questions on the basis of underlined words.

(i)  Uded Yeal v |

Gi) Torfcafsr, wage: Auen: wif@: |
(iti) g R T 7 |
(iv) HialgaTedr SHhed: |

—x2=1

1X2=2

ix4=2

1X4=4
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FUifaRgawTranet: Ryl AesueHesRaan % :
frefefgd gt vmanet # wegw # fou U sreal i wear ¥ fapee it i gid
HIf

Fill in the blanks in the following two explanations with the help of the

words given in the box : éx 12=6
(31) T FHMHAREATASHH eS|
T 9 g—wATed fatg gafrsta 117
G ICID R
A 54 goieR (i) g 7 (i) qt a1 fswerr
(iii) Tedl A HUM T 9, Tdt (iv) L)
St (v) MY Ferdm 7 (vi)
(@)  “Iuristar fommi @ fg e |
TeThICTEETT wiarg sameyemy |17
S ICIO R
o HREH AT () S W= (1)
yata  dk (i) ECIRC oI
(iv) qda T (v) ERIEMICKE]
(vi) g IfEr: |
Hos[uT

T, g, Jan®, @, Sfed, 9E, $H, SIRWd, Y,
JAeTesd:, 3ifeehy, vafd |

FfARGT: yerreRat: o freeyfd Hed

FTTRad g1 IAihl o 3=l H TRea T i qfd i :

Fill in the blanks in the following prose-order-renderings of the two

verses .
(31) “pdadg wuifr fasifos=sd gt |
Tg @y Tgdisted 9 %8 faea |7
AT
ERC 2: 111 SN ) S . S|« SN < t:| R & 1| CA I
T (if) AT 3d: 9 e T (F) T HHA (id)

2

114+11=3

2

P.T.O.
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“Trrd 3o w1 @ S AT FHA: |

@Y = 9 7 gRrgdes: 11”7

Y

@ e () F% & (i) wH AW |
JTHH: = o I Y T (dii)

TG I |
Mt I G |

Answer as directed.

(31)

c M d o
hqug TshaIg < T=Id |

i Td fpamag g |

Select the subject and the verb. L q=2
@) o uwer ARy st |7 ?

(i) “318 "Wl e Hety |7

fererorag ferga |

fereror ug gfw |

Select the adjective. I1x2=2
() Saren yd yaveant ATE I

(i) ‘Tearamufy SeaTeTehiT SRR TfegT @Ry |

FIfARGAURRY (@ gaTa-THIG T Th ?

frefaftga aiwt o tarfed gaam ug foheh foTg T 5T @ 2

In the following lines for whom are the underlined pronouns
used ? I1x2=2
(i) ‘vafageriy I wemiy qaaeH g |

(i) ‘“fospronSEAMTEG Yfvaeed |

FfARGaURR = ‘ofeur:’ qen ‘igdf< 3fd 9eal: qHMEILS q¢ e
forEa -

frfafga ofeat § & ‘g’ 91 iRd @ UGl % FEHISH 98 FARL
ot

Select and write the synonyms of the words ‘s1eut:’ and ‘Eﬁﬁﬁ’
from the following lines : I1x2=2

(i) i fg forqeeremiioom 1’
(11)%1%%&1’5@'@ 1%

10
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%: % HIYIATd ?

i TohEhl e &I 7 ?
Who is saying this to whom ?

G)  ‘srafmmEigem e dedige: |

(i) ‘ITIFgata ITeAf foavary |’

FGIARIACTEHR M HEATY Tehed HIeIed T4 forad

Fr=faiaa @t & Tt R s 1 AW fofge

i><4:2

Write the name of any one work of each of the following poets : 1x5=5

TIRTRIE:, Hga:, T3 WgEm:, WRid:, sifrehedes: |

AN fARgT=AHT @R AT forEq -
fafafigd wA1eTt & wigehi & M fafgu :

Write the names of the authors of the following works :

JRETNSATd:, ShIgFRY, UTyToft =T, Eiegderadl, amegay |

@vus: ¥ (SECTION D)

WS("@I!I:

Metres and Figures of Speech

T I |
T % I AT |

Answer the questions.

i) T’ e W 3l g e AT ?
(i) T €Y for@d |
ARG g0

frferfa aRems 1 qu AR -

Complete the following definitions :

i) g Ifg @ S |

(i) IThT IEdIITohT |
(iii) Tt q IIEAYERG
(iv) TR Al |

11

1 ><5=5

10+10=20 3HAgI:

Ix2=2

1 ><4=4

P.T.O.
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SgifIRgad#at: o foh Bw5: ?

frefafaa aferi & #F ®H-a1 85 8 ?
What is the metre in the following lines ? 1x2=2

(i) “JvaTcyes Jgfd faqed a= gareasey |
(ii) YR Fwg faseq 1
THET BeH: I fored
Tk g, ol 3G Ty :

Write an example of any one of the metres : 2

P, WGEeshIfee, |
FLAIIHE NQAZE FIeatv a0 fored
foret Wk TTegTeioh T WGl | ffE

Write the definition and example of any one of the figures of
speech : 3

I, TN |
HITHRTT AATAEE AW < o
hadl Teh ITATASR 1 AU T 3@ TARIT

Define and illustrate any one of the figures of speech : 111123
2 2
FIRY, AT |
Freeaqecal: 3Taegr fAfdye
frefetiiad aferal § STagR 1 FHewr il
Indicate the figure of speech in the following lines : 1x2=2
(i) ‘Fro=fe fomema: af< = feama: 1
(i) ‘TEd 9o = fUEAH Yogem: higw: ?
FTARGATNHATIGS T4
frefefaa AT aftarre 1 gof i
Complete the following definitions of the two figures of speech : 1x2=2
()  Fad gemA: |
N
(i)  wacETEHTCE |

12 500



